
SAP ABAP table TEMT_VERSEXPOS {Versioned Exposure}

TEMT_VERSEXPOS

MANDT [CLNT (3)]

PROFILE_ID [CHAR (10)]

VERSION_NO [NUMC (6)]

EXPOSURE_ID [CHAR (32)]

EXPOSURE_ORIGIN [CHAR (5)]

LOG_SYSTEM [CHAR (10)]

PLANNING_PERIOD [CHAR (3)]

TRANSACTION_CAT [NUMC (2)]

COMPANY_CODE [CHAR (4)]

COUNTRY [CHAR (3)]

ATTRIBUTE_01 [CHAR (20)]

ATTRIBUTE_02 [CHAR (20)]

ATTRIBUTE_03 [CHAR (20)]

ATTRIBUTE_04 [CHAR (20)]

ATTRIBUTE_05 [CHAR (20)]

ATTRIBUTE_06 [CHAR (20)]

T000

MANDT [CLNT (3)]

 TEMT_VERSEXPOS-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 TEMT_VERSEXPOS-COMPANY_CODE = T001-BUKRS 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 TEMT_VERSEXPOS-COUNTRY = T005-LAND1 

0..N

0..N TBDLS

LOGSYS [CHAR (10)]

 TEMT_VERSEXPOS-LOG_SYSTEM = TBDLS-LOGSYS 

0..N

0..N

TEMC_ATTRIBUTE

MANDT [CLNT (3)]

ATTRIBUTE_NUMBER [NUMC (2)]

ATTRIBUTE_VALUE [CHAR (20)]

 TEMT_VERSEXPOS-ATTRIBUTE_01 = TEMC_ATTRIBUTE-ATTRIBUTE_VALUE 

0..N
1  TEMT_VERSEXPOS-ATTRIBUTE_02 = TEMC_ATTRIBUTE-ATTRIBUTE_VALUE 

0..N1
 TEMT_VERSEXPOS-ATTRIBUTE_03 = TEMC_ATTRIBUTE-ATTRIBUTE_VALUE 

0..N
1  TEMT_VERSEXPOS-ATTRIBUTE_04 = TEMC_ATTRIBUTE-ATTRIBUTE_VALUE 

0..N
1

 TEMT_VERSEXPOS-ATTRIBUTE_05 = TEMC_ATTRIBUTE-ATTRIBUTE_VALUE 0..N1

 TEMT_VERSEXPOS-ATTRIBUTE_06 = TEMC_ATTRIBUTE-ATTRIBUTE_VALUE 

0..N

1 TEMC_PERIOD

MANDT [CLNT (3)]

PLANNING_PERIOD [CHAR (3)]
 TEMT_VERSEXPOS-PLANNING_PERIOD = TEMC_PERIOD-PLANNING_PERIOD 

0..N

{0,1}

TEMTS_ORIGIN

EXPOSURE_ORIGIN [CHAR (5)]

 TEMT_VERSEXPOS-EXPOSURE_ORIGIN = TEMTS_ORIGIN-EXPOSURE_ORIGIN 

0..N

0..N

TEMT_PROFILE

MANDT [CLNT (3)]

PROFILE_ID [CHAR (10)]

 TEMT_VERSEXPOS-PROFILE_ID = TEMT_PROFILE-PROFILE_ID 

0..N

1

TEMT_VERSION

MANDT [CLNT (3)]

PROFILE_ID [CHAR (10)]

VERSION_NO [NUMC (6)]

 TEMT_VERSEXPOS-VERSION_NO = TEMT_VERSION-VERSION_NO 

0..N

1

THMEXTS_CATEGORY

TRANSCATEGORY [NUMC (2)]

 TEMT_VERSEXPOS-TRANSACTION_CAT = THMEXTS_CATEGORY-TRANSCATEGORY 

0..N

0..N


